
D+→ π+η D+
s → π+η

ARaw(D
+
(s)→ h+η) −0.55 ± 0.76 0.75 ± 0.65

Aw
Raw(D

+
(s)→ K0

Sh
+) −0.46 ± 0.04 −0.02 ± 0.37

ACP (D
+
(s)→ K0

Sh
+) −0.02 ± 0.12 0.13 ± 0.20

AMix(K
0) −0.070± 0.004 −0.070± 0.004

ACP (D
+
(s)→ h+η) −0.2± 0.8± 0.4 0.8± 0.7± 0.5

D+→ K+η D+
s → K+η

ARaw(D
+
(s)→ h+η) −5.39 ± 10.40 1.28 ± 3.67

Aw
Raw(D

+
(s)→ K0

Sh
+) 0.33 ± 0.10 0.36 ± 0.10

ACP (D
+
(s)→ K0

Sh
+) −0.01 ± 0.08 0.09 ± 0.26

AMix(K
0) −0.073± 0.004 −0.073± 0.004

ACP (D
+
(s)→ h+η) −6± 10± 4 0.9± 3.7± 1.1


